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Instructions to the wndza‘ates

1) Al quemon sure compulsory.
2)  Use oj scm\)lf Ic calculator is allowed,

3) Fi igures m the right side indicate Sull marks. (o

N
(N
)

01) a) What is knowledge? Explain vanous’types oﬁ-knowledoe with example. [5]

b)  Explain of data essencials and its ‘aﬂaiyslg‘rﬁ médchine learning. [5]
O}R W) f

¢)  Explain the wumpus world pm@ém r{);‘l;epresent knowledge with its steps

for reaching the target.  « [5]

d)  Explain classification in maLhme le@mmg Also explain difference between

regression and clasmﬁqatlon in brlef 5]
02) a) Consider the argumenj ,,\ [6]
“All dogs bark. ~J D

Some animals are dogs.®"
Therefore some amnj\als bark
Determinie whetherthe conclusion is valid ar guments or not.

b) Constructthe truth - table for the following. (4]
D4 (pAQ) AT(pvg)
i), \(prQ)— p
OR
¢) “Aranslate following sentences in FOL. [6]
1)% Allmen are people
i) John buys a pumpkin N
) No boys get any doll -
iv) Some students win match v
v)  Ravieats everything thay ajay cats
vi) It is a warm day
d) Explainrule of inferences. L5 [4]

PTO.



03) a)

d)

04) a)

b)
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stering and shy
Perform k-means clus g Wall the calculations at cach iteration,

sst
(0 form the final clUSLEL A8SL Assume (e | itial clusters are A, E & H. [6]

Amount . [40

Points | A| B DJE B L’JI [T
N 38 (412 L7 153 416l
\7 3 5 4 4.1\. : 7 8 5 8 9 6
L\pldm Naive de‘QMCl““\‘ [’IC(éj)l[l{()|1, (4]

S“'“M“““"“ of X ony from the data given below. [6]
[5
43

Calculate the regre

Price

dumndui
estimat t 1€ lll@ly demand when price in Rg. 20,
F\plai’h thoﬁ)llowmg terms with reference to cr cating maching learning

models. ' [4]

i)~ Training dataset e

1) }E@\%ting dataset X N

Consider the following dataset 3 6]

r Ty e "y

-1 -1 -l

0 1 +1

1 0 +1

] 1 +1 A

If perception along w1t “E)pl edso that data set with the weight vector

initialize to [0, 0]. an&wtlmes the weight vector will be updated

during the training mss N

Explain ReLU functi m\g@fall. 4]
4 OR

By using following sm%fe depth of input. -~ [10]

31 1 |2 \> A0
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N 1 [02] 6

1) “Find 1> maxpool with 2x2 Filter and strm& 2. X
i)  Average pool with 2x2 filter and stride,: 2«~ ~

tl\

Explain the working of convolutional Neurgliﬁ?wor&a with a neat diagram.[5]

Explain CPU in detail. YN 5]
Explain generative adversarial network C(GAN) ‘ 5]
Explain chatbot in detail. A © ,, <A‘“‘“\‘?l‘ 151
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